

Viana

subject:

سما ریاضی: ۱۵

Year:

Month:

Date:

B: $x=0 \rightarrow \tan \frac{\pi}{4} = 1 \rightarrow (0,1)$

(1)

A: $-2x + \frac{\pi}{4} = \frac{\pi}{4} \Rightarrow x = -\frac{\pi}{4}$

$\Rightarrow C-A = \frac{\pi}{4}$

$\Rightarrow S = \frac{1}{4} \times 1 \times \frac{\pi}{4}$

C: $-2x + \frac{\pi}{4} = -\frac{\pi}{4} \Rightarrow x = \frac{\pi}{4}$

$\Rightarrow S = \frac{\pi}{4}$

(2)

$\frac{0}{\text{جایگاه}} \rightarrow \frac{4}{9} - \frac{2}{3}(\sin \alpha) - \frac{1}{4} \cos^2 \alpha = 0$

$\Rightarrow 16 - 24 \sin \alpha - 9(1 - \sin^2 \alpha) = 0 \Rightarrow 9 \sin^2 \alpha - 24 \sin \alpha + 7 = 0$

$\Rightarrow P = 4, 3 \quad S = +24 \Rightarrow \sin \alpha = \frac{4}{9} \text{ و } \sin \alpha = \frac{3}{9} = \frac{1}{3} \checkmark$

$\Rightarrow \frac{3}{\sqrt{10}} \Rightarrow \tan \alpha = \frac{1}{\sqrt{10}} \Rightarrow 1 + \tan^2 \alpha = 1 + \frac{1}{10} = \frac{11}{10}$

(3)

$\log(\sin \alpha) - \log(-\cos \alpha) = \log 3$

$\Rightarrow \log \frac{\sin \alpha}{-\cos \alpha} = \log 3 \Rightarrow \sin \alpha = -3 \cos \alpha \xrightarrow{\text{مربع}} \sin^2 \alpha = 9 \cos^2 \alpha$

$\frac{0}{\text{باید مثبت شود}} (-\cos \alpha)$

$\sin^2 \alpha = 1 - \cos^2 \alpha \Rightarrow 10 \cos^2 \alpha = 1 \Rightarrow \cos \alpha = \pm \frac{1}{\sqrt{10}} \Rightarrow \cos \alpha = -\frac{1}{\sqrt{10}} \checkmark$

$\Rightarrow \frac{\sqrt{10}}{1} \Rightarrow \sin \alpha = \frac{3}{\sqrt{10}} \Rightarrow \sin \alpha - \cos \alpha = \frac{3}{\sqrt{10}} - \frac{1}{\sqrt{10}} = \frac{2\sqrt{10}}{10}$

(4)

$\sin^2 \theta + \cos^2 \theta = \frac{4}{9} \xrightarrow{\cos^2 \theta = 1 - \sin^2 \theta} \sin^2 \theta - \sin^2 \theta + 1 = \frac{4}{9}$

$\Rightarrow \sin^2 \theta (\sin^2 \theta - 1) + 1 = \frac{4}{9} \Rightarrow \sin^2 \theta (-\cos^2 \theta) + 1 = \frac{4}{9}$

$\Rightarrow -\sin^2 \theta \cos^2 \theta + 1 = \frac{4}{9}$

✓

Viana

subject :

Year :

Month :

Date :

$$\cos^2 \theta + \sin^2 \theta = \cos^2 \theta - \cos^2 \theta + 1 = \cos^2 \theta (\cos^2 \theta - 1) + 1 \quad (3)$$

$$= \cos^2 \theta (-\sin^2 \theta) + 1 = -\sin^2 \theta \cos^2 \theta + 1 = \frac{4}{9}$$

$$\Rightarrow \cos^2 \theta + \sin^2 \theta = \frac{4}{9}$$

استعملنا $(-)$ $\rightarrow$ $(+)$ هوارة

$$\frac{\sin x (1 + \cos x)}{1 (1 - \cos x)} - \frac{\sin x (1 + \cos x)}{1 \sin x} < 0 \Rightarrow \sin x < 0 \quad (4)$$

$(+)$ هوارة $\leftarrow$

$$(\sin x) \left(\frac{\sin x}{\cos x} \right) - \frac{1}{\cos x} = \frac{\sin^2 x - 1}{\cos x} = \frac{-\cos^2 x}{\cos x} > 0$$

$\rightarrow \cos x < 0$

$$\Rightarrow \sin x < 0, \cos x < 0 \Rightarrow \text{دائرة في ربع ثلثي}$$

$$\frac{1}{\sin x} + \frac{1}{\cos x} = 0 \Rightarrow \frac{1 \cos x + 1 \sin x}{\frac{1}{\sin x} \cos x} = 0 \Rightarrow 1 \cos x + 1 \sin x = 0 \quad (4)$$

$$\Rightarrow \cos x = -\frac{1}{\sin x} \Rightarrow \cos^2 x = \frac{1}{\sin^2 x} \Rightarrow 1 - \sin^2 x = \frac{1}{\sin^2 x}$$

$$\Rightarrow \sin^2 x = \frac{1}{13}, \cos^2 x = \frac{9}{13} \Rightarrow \sin x = \pm \frac{1}{\sqrt{13}}, \cos x = \pm \frac{3}{\sqrt{13}}$$

$$\cos x, \sin x \rightarrow \tan x + \cot x = \frac{1}{\sin x \cos x} = \frac{1}{-\frac{9}{13}} = -\frac{13}{9}$$

كلتا العلاقتين

✓

Viana subject :

Year : Month : Date :

$$\sqrt{1 + \sin \alpha_0} = \sqrt{1 + \cos 2\theta_0} \xrightarrow{\text{فردول ماری}} = \sqrt{2 \cos^2 \theta_0} = \sqrt{2} \cos \theta_0 \quad (7)$$

$$\begin{aligned} \sin \alpha_0 + \sin \theta_0 &= \sin(\theta_0 + \theta_0) + \sin(\theta_0 - \theta_0) \\ &= \sin \theta_0 \cos \theta_0 + \sin \theta_0 \cos \theta_0 + \sin \theta_0 \cos \theta_0 - \sin \theta_0 \cos \theta_0 \\ &= 2 \sin \theta_0 \cos \theta_0 = \cos 2\theta_0 \end{aligned}$$

$$\Rightarrow \frac{\sqrt{1 + \sin \alpha_0}}{\sin \alpha_0 + \sin \theta_0} = \frac{\sqrt{2} \cos \theta_0}{\cos 2\theta_0} = \sqrt{2}$$

$$1 - 2 \sin^2 \theta_0 \xrightarrow{\text{فردول ماری}} = \cos 2\theta_0 \quad (8)$$

$$2 \cos^2 \theta_0 - 1 = \cos 2\theta_0 \quad \frac{1 - \tan^2 \theta_0}{1 + \tan^2 \theta_0} = \cos 2\theta_0 \quad \cos 2\theta_0 = \frac{1 - \tan^2 \theta_0}{1 + \tan^2 \theta_0}$$

$$\begin{aligned} \Rightarrow \cos 2\theta_0 \times \cos 2\theta_0 \times \cos 2\theta_0 \times \frac{\sin \theta_0}{\sin \theta_0} &= \frac{1}{\lambda} \frac{\sin \alpha_0}{\sin \theta_0} = \frac{1}{\lambda} \frac{\cos 2\theta_0}{\sin \theta_0} \\ &= \frac{1}{\lambda} \cot \theta_0 \end{aligned}$$

$$\omega \cos 2\theta_0 - 12 \cos \theta_0 = \omega (2 \cos^2 \theta_0 - 1) - 12 \cos \theta_0 = 10 \cos^2 \theta_0 - 12 \cos \theta_0 - \omega \quad (9)$$

$$\begin{aligned} \sin \alpha + 3 \cos \alpha &= 2 - \sin \alpha = 2 - 2 \cos \alpha \quad \text{فردول ماری} \quad \sin^2 \alpha - 9 \cos^2 \alpha - 12 \cos \alpha + 4 \\ \sin^2 \alpha &= 1 - \cos^2 \alpha \quad 10 \cos^2 \alpha - 12 \cos \alpha + 3 = 0 \Rightarrow 10 \cos^2 \alpha - 12 \cos \alpha - \omega = -1 \end{aligned}$$

$$\Rightarrow \omega \cos 2\theta_0 - 12 \cos \theta_0 = -1$$

$$\cos^2 A = \frac{1 + \cos A}{2} \quad 2 \sin B \sin C = 1 + \cos A \quad (10)$$

$$\cos(\pi - (B + C)) = -\cos(B + C)$$

$$2 \sin B \sin C = 1 - \cos(B + C) \Rightarrow 2 \sin B \sin C = 1 - \cos B \cos C + \sin B \sin C$$

$$\Rightarrow \cos B \cos C + \sin B \sin C = 1 \Rightarrow \cos(B - C) = 1 \Rightarrow B - C = 0 \Rightarrow B = C$$

$$\Rightarrow B = C = 112^\circ \Rightarrow A = 180^\circ - 2(112^\circ) = 56^\circ \Rightarrow \hat{A} = 56^\circ$$

✓